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2018 March New Cisco 300-180 Exam Dumps with PDF and V CE Free Updated Today! Following are some new 300-180 Real
Exam Questions: 1.]2018 Latest 300-180 Exam Dumps (PDF & VCE) 374Q& As
Download: https://www.braindump2go.com/300-180.html 2.[2018 L atest 300-180 Exam Questions & Answers
Download:https.//drive.google.com/drive/folders/OB75b5xY Lj SSNRFptNOxi TENBM zA 2usp=sharingQUESTION 334Y ou must
identify and isolate traffic loss. Which option do you configure to monitor EPG-to-EPG traffic within atenant?A. SPANB.
traffic mapC. tcpdumpD. atomic countersAnswer: CQUESTION 335Refer to the exhibit. Which description of the result is
true? | Nexus7K-1 Config B
interface loopbackl

ip address 10.100.1.1/32

ip pim sparse-mode
ip pim bsr bsr-candidate loopback0
ip pim bsr rp-candidate loopback0 group-

224.0.11.0/24
ip pim bsr forward listen

Www. Braindump2goiesnt

Nexus7K-2 Config
interface loopback0l
ip address 10.100.2.1/32
ip pim sparse-nod?
ip pim bsr bsr-canc'l:.data loopback0
ip pim bsr rp-ca.nd-ldltﬂ loopback0

224.0.0.0/16

Lj p pim bsr forward listen =S

A. Nexus7K-2 isthe RP for al of the multicast addresses specified in the 224.0.11.0/24 group list.B. Nexus7K-1 isthe RP for
all of the multicast addresses specified in the 224.0.11.0/24 group list.C. Nexus7K-2 isthe RP for al of the multicast traffic on the
network.D. Nexus7K-1isthe RPfor all of the multicast traffic on the network. Answer: DQUESTION 336After adata center is
upgraded with new Cisco Nexus switches, some of the links using multimode fiber no longer work, which type Of multimode cables
arevaid?A. OM4 cablefor 700 mat 10 GbB. OM3 cable for50 m at 40 Gb with QSFP BiDIiC. OM4 cable for 150 m at 40 Gb
QSFPBIDID. OM2 cable for 550 mat 10 GbAnswer: BQUESTION 337Refer to the exhibit. Interfaces Ethernet 7/1-8 are

members of the CORE-SW1 VDC, and CORE-7700-1 is the admin VDC. Which cause of the error is likely? ‘—E == t'——m ==y ——
CORE- -1 (e i
CORE-T700-1 {config-vdc) ¥ allocal

Ti1-R e
w) Wk e S HEE NS

speci fied will be affec

yes
ERROR: Ports being shared must |
i or fcoe sharin

]JA. The FCoE VLANS associated to Ethernet 7/1-8 must be assigned to the FC-CORE-SW1 VDC in the admin VDCs.B.
Interfaces Ethernet 7/1-8 must be configured for FCoE sharing.C. All the interfacesin the FC-CORE-SW1 VDC must be
configured for FCoE sharing.D. The Fibre Channel VSANSs associated to Ethernet 7/1-8 must be assigned to the FC- CORE-SW1
VDC inthe admin VDCs.Answer: AQUESTION 338Refer to the exhibit. A user named userl is unable to create roles.What must
you do to resolve the issue? I ——— ot allowed

ssword set. local : 1
l:;-l::u login through RADIUS is possible

switch# show role tech-admin
Reole: tech-admin

Deseription: Admin management group

W olicy;: Z m.i.t f : It .
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A. Assign userl to the network-admin roleB.  Assign userl to the tech-admin role only.C.  Set the user password for user1D.
Allow userl to log in locallyAnswer: AQUESTION 339Which tool can be used to browse the Cisco APIC Management
Information Tree viaaweb browser?A. KafkaB. SparkC. MavenD. /isoreAnswer: DQUESTION 340Refer to Exhibit. The

Cisco Nexus 5000 Series Switches fail to form an OSPF adjacency.Which option is a possible cause of the issue? m
0.0.046] | v

Enabled by inter
State UP, Noetworl
Index 1., Transmif
No designated ron
Noe backup design:
0 Neighbors, flo«
Timer intervals:
Retransmit 5

No authenticatio:

Fiwher =) ?’-
\/ J_fj_/xJ_J J{f
nkS5-2f#show ip ospf
Ethernetl/l is up, |
1P address 10.0.(
0.0.0.0
Enabled by inter
State UP, NHetwox
index 1. Transmi
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5
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f  opragques
pumber ©F “F

JA. Theinterfacesaredisabled.B. The network typeis set to broadcastC. There is mismatched process IDD. The OSPF hello
timer values are mismatched.Answer: CQUESTION 341How can you identify the blade location when tracing server traffic?A.

by performing CDP checks on the Cisco UCS Fabric InterconnectsB. by using atrace utilityC. by collecting traffic that uses a
SPAN monitoring portD. by examining the interface to which the server MAC addressis connectedAnswer: AQUESTION 342A
switch is configured with the following command:switch(config)# aaa authentication login default group tacacs+What occurs when
an AAA login authentication request fails to communicate with any of the serversin the group?A. The authentication request fails.
B. Thelocal database isused for authentication.C. The authentication request is successful.D. A server in another server group
isused, if present.Answer: AQUESTION 343Refer to the exhibit. You fail to configure a boot from iSCSI service profile Which
action do you take to troubleshoot the issue? | status T

Overall Status: ' Config Failure

Desired Power State: 1 Up i

Assoc State: 1 Assodciated 'I'i
Assigned State: 1 Assigned {
fiouratc o 551 coni p

WTIRT e JJ\J:j):J: CbibeF ;_J D=
mﬂu
tdﬂlﬂlvuuriliﬂlmrhmt i'}

Mote: The “Desired Power State” is the \
Power State of the server set via UCSM.
It may be therefore different from the
actual value. For the actual server power
state click the “Server Details™ Tab
T T R

A. Attempt to ping the |P address of the iSCSI target.B. Check the LUN masking configuration.C. Inthe CLI of Cisco UCS
Manager, verify that the blade is attached to the LUN.D.  Check the native VLAN configuration on the overlay vNIC.Answer: D
QUESTION 344What the default MTU size of aVMware host?A.  1000B. 1500C. 1550D. 9000Answer: BQUESTION 345
Y ou have a Cisco UCS Central cluster. An 1/O error is detected in the shared storage. What is a possible cause of theissue?A. One
of the Cisco UCS Central nodes is powered off.B.  The wrong path selection policy is configured in VMware.C. The shared
storage LUN was shared by a virtual machine other than the Cisco UCS Central cluster nodes.D. The Cisco UCS domain is not
registered in Cisco UCS Central . Answer: CQUESTION 346Which option is exchanged between neighbors during OTV adjacency
formation across the Layer 3 multicast network?A. IGMP packetsB. OTV open messagesC. L1 1SISHello packetsD. OTV
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adjacency packetsAnswer: BQUESTION 347Y ou are troubleshooting a Cisco Nexus 1000V Series Switch. Which command can
you use to re-establish communication between VSM and VMware vCenter?A.  resetB. connectC. setupD. reloadAnswer: A
QUESTION 348Y ou use a Cisco UCS VIC 1340 adapter.Y ou discover that the actual vNIC order does not reflect the order
specified in the connectivity policy. What must you do to change the placement order?A.  Change adminHostPort in the vNIC
policy.B. Change the adapter order in the connectivity policy.C. Remove all of the adapters and recreate all of the adaptersin the
required orderD. Change adminHostPort in the connectivity policy.Answer: AQUESTION 349Which two features are required to
configure a blade to boot successfully from Fibre Channel? (Choose two.)A. LUN maskingB. WWPN device aliasC. boot from
SAN policyD. SAN connectivity policyE. port assignmentAnswer: BCQUESTION 350Which statement is true about the show
cfs merge status name command?A. In asuccessful merge, all switchesin the fabric are shown separately.B.  The command
shows the complete Cisco Fabric Services region database.C.  The merge master is selected based on the highest sSWWN in the
fabric.D. Inasuccessful merge, all switches are shown in alocal fabric.Answer: DQUESTION 351An engineer enters the show

svs neighbors command as shown below. Which statement describes the output of the command? ~wich# show svs neighbors
Active Domamn ID: 103C
AIPC Interface MAC: 0050-568e-58b7
' [ 0 7 L= DRk i el e 2 o A
WARAPS BN FERIT ERER 0 4
rc MAC Type Domam-d Node
002-3d44-0602 VEM 1030 0302

A. TheVSM cannot connect to the VEM.B.  The vCenter server cannot connect to the VSM.C.  The VSM is connected to the
VEM by using an Layer 2 network.D. TheVSM is connected to the VEM by using an Layer 3 network.Answer: B
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